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Note: Micrometer images from Smith, R. & Peterson, J. C. (2007). Introductory Technical Mathematics (5e) pp, 282-283 
 

 

Unless otherwise noted, this work by the Project IMPACT Nebraska Community College 
Consortium is licensed under the Creative Commons Attribution 4.0 International License. 
To view a copy of this license, visit http://creativecommons.org/licenses/by/4.0/.  

This product was funded by a grant awarded by the U.S. Department of Labor’s Employment and Training Administration. The product 
was created by the grantee and does not necessarily reflect the official position of the U.S. Department of Labor. The Department of 
Labor makes no guarantees, warranties, or assurances of any kind, express or implied, with respect to such information, including any 
information on linked sites and including, but not limited to, accuracy of the information or its completeness, timeliness, usefulness, 
adequacy, continued availability, or ownership. 

 

0 1 2 3 0

 

THIMBLE 
SCALE 

0.001 -inch 
DIVISION 

BARREL 
SCALE 

 

0

0.025 -inch DIVISION 
(DISTANCE MOVED IN ONE 
REVOLUTION OF THIMBLE) 

0.001 -inch DIVISION 

 HORIZONTAL (READING) 
LINE 

0   1   2   3  10 

5 

 

  0 
1 0  

2 0  1 0  

5 .  1 1 .8 .
1 0    0 

1 0  
7 8 9 00 10 

5 5 2 0  

1 .  4. 7 . 1 0 .

3  4  5  0 1   2  3 15 3 4 5 1 5  4  5  6
 3

1 5  6 .  
2   3   4  5  

1 5  9 .

4 5 6 7 1 5
1 2 .

5 6 7 8
  1 0

1 0  1 0  1 0  
5

 0

2 0

2. R

3.  
 5  6  7  

Reading a micrometer 

I read this as: 0.300˝ + 0.050´ + 0.008˝ = 0.358˝.  Can you see where 
I found each of these from the diagram? 


